334/Phil 22-23/30613

B.A. Semester-111 Examination, 2022-23

PHILOSOPHY [Honours]
Course ID : 30613 Course Code : AH/PHI/303/C-7
Course Title : Deductive Logic (Western)

Full Marks : 40

The figures in the right-hand margin indicate marks.

Time : 2 Hours

Candidates are required to give their answers in their
own words as far as practicable.
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1. Answer any five of the following questions:
2x5=10
fasferiee @-cwic #fivfs am Teg wis
a)  What is existential import?
SREGETT Ol @00 F (RI 2
b)  What is Tautologous statement form? Give an

example. 1+1
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c) What is a truth-functional proposition? Give

example. 1+1
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d)

g)

h)

What is a singular proposition?

T EADT A5 FIE A 2

Symbolize the following in terms of

propositional functions and quantifiers:
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Only students and teachers were present.
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What is propositional function?
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If'A' is known to be true what is the truth-value
of 'A>(B>B)'?
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What is paradox of material implication?
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2. Answer any four of the following questions: 5x4=20
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a)
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Use truth tables to determine the following

statement as tautology or contingent or self-

contradictory: 0=[Qv(Q>P)]

(2)



b)

d)
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QE[QV(QDP)]

What is conversion? Show two cases where an'A'

proposition can be simply converted. 2+3
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Distinguish between Rules of Inference and rules

of Replacement.
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What are the paradoxes of material implication?

How are they resolved? 2+3
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[BEMCEXE:

Symbolize each of the following using logical

notation of propositional function and quantifiers:
21421=5

1)  None of the answer is good.

11)  Snake bites are sometimes fatal.
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Use truth tables to determine whether the
following statement forms are tautologies, self-

contradictory and contingent:
i)y p=[p(po9)]

i) [(~q>~p)]=(p>q)
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i)y p=[p(po9)]

i) [(~q>~p)]=(p>q)

3.  Answer any one of the following questions:

10x1=10
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a)
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1)  Test the validity of the following arguments

by means of Venn diagram: 5+5=10
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The communists can never be happy, for they

are not religious and only the religious are
happy.
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ii)

b) i)
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Use truth tables to determine the validity of

the following argument:
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(pvq)or
(p.q)or

~(pva)>(p.q)
Construct formal proof of validity for the

following argument: 5+5=10
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(ZoZ)o(ADA)
(ADA)>(Z>2)
SLADA

Prove the invalidity of each of the following
by the method of assigning truth values:
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M>(NvO)
N> (PvQ)
Q>R
~(RVvP)
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c)
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What is categorical syllogism? State the rules of
categorical syllogism following I. M. Copi.

2+8=10
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